[ B-461D-1 [ |
REV!SIONS RELEASED |
SYW DESCRIPTION DATE APPROVED
- 6.31 MAX A [30526] DELETED 1TEM 12 P/N 58400-107 |96-06-21| <3
T - FAA/PMA AND [TEM 14 P/N 39529-024 :
-~ 6.13 MAX B [47437|FAA/PMA & FIND NOS 12 & 14 ADDED|00/05/10 2%
| O®
0., QO
L1O—8 T mv: 2 13 own
_.NOILI__/. .L_\..IO_.G
130t T T AL 13
> > ——— MS 3470L22-55P ST T
£3Z = rLE * He
el nim
“ < 1 NOTES: m.léL.\Hm wurTz_
1. THES UNIT MEETS THE MATERIAL AND
” WORKMANSH P REQUIREMENTS OF MIL-R-6106  |E %w f % T
2. KEYWAY POSITIONED TOWARDS TOP OF J GiVv Y
Al CONNECTOR = Tz =T *
\ 3. COIL TRANSIENT VOLTAGE LIMITED TO e
L1 % £ 42V MAX EToT e b —T" ¢
V% « VENT 4. DIODES TO BE JANTX 1000 PV e e P e s
(221 :338 HOLE B8 —o— 18| PR EE
4 MTG HOLES — L == — —
] 3/8-24 UNF-2ZA STUD MECHANICAL INTERLOCK
<) \l 9 STUDS REQ'D
I ya s |y -
(10) N . 15| 1 {35579-008 ] OVERLAY
e 14 39529-024 | OVERLAY
¢ (L 1] rw mmmmw;mww mmmm»m»» PNA
> 1 - ~FAR7
¥ = = i 111 9 |51807-084 | WASHER - 378 X .688 X .084 SPLIT BRONZE
@\ IR N/ 10 9 |51704-024 | WASHER - 5/8 X .390 X .064 BRASS
m { g | 0 [50407-164 | NUT - 3/8-24 X 5/8 X 71732 BRASS
; ] 8 44237-001 PLATE = WIRING DIAGRAM
7 25606-002 | SHIELD -~ TERMINAL
J 6 | 1 116043-001] PLATE - NAME
e < O 5 38890-040 | CONTACTOR ASSY. - PRI,
= % | 4 [51806-031 ] WASHER - LOCK NO.6 LOCK-SPLIT 5. STELL
e = 4 [51206-821 1 SCREW - 6-32 X 1-1/2 RD.HD. STEEL
< - 2 38/67-00 ATE -~ BASE COVER
9 1 25695-00 ATE — WARNING
w’ .._.J. FIND | OYY PART OR NOMENCLATURE OR DRAWING OR MATERIAL
/ N {REQD [ IDENTIFYING NO DESCRIPYION SPECIFICATION OR NOTE
1LESS OTHRNISE SPLCIFIED REF HARTMAN ELECTRICAL MANUFACTURING
9 /@ -3 znwozzgm_@r“_woco_.bm MANSF IELD, OHID
@/ Nn“wrcMmo.uv_. 0mo.>7“0_n.”.|ﬂ DR BY | RLS 00/05/25 >. o. mUOémx OOZ.-)O.—.O%
//4% o BY |os eowszs] 175 - 250 AMP
MATERI ENGR {3 o
| | A e pesiy  TPDT CENTER OFF 093
¥ I T ] RELEASE U ST7e ] CO0E TDENT JEWG NO.
] _ o C |74063 B-461D-1
SCALE _ _mImmﬂ 1 OF 2




| B-461D-1 '8
REVISIONS RELEASED |
REV DESCRIPTION DATE APPROVET
CLASS AS TYPE [I/MIL-R-6106E EXCEPT AS NOTED _.|>>\_.U7\_> B |SEE SHEET 1 FOR REVISIONS e
CONSTRUCTION GASKET SEALED ﬁ<m24mov
MAIN CONTACTS
CONF IGURATION 3PDT CENTER OFF
VOLTAGE ﬁzoz_z>rv 1157208 VAL, 400 HZ.
CURRENT : RESTSTIVE 250 AMP/MIL-R-6106E
MOTOR 175 AMP
RUPTURE 1750 AMP
INTERRUPT 2500 AMP
AUXILIARY CONTACTS
CONF |GURATION 10 SPDT
4 SPST
VOLTAGE ﬁzoz_z>ru 28 VvDC OR 115 VAC, 400 HZ.
CURRENT : RESISTIVE 5 AMP WiTH A CONTACT VOLTAGE DROP OF 200MV MAX.
INDUCTIVE 5 AMP
LAMP 3.7 AMP
COIL DATA
DUTY CYCLE CONT 1NUOUS
COIL VOLTAGE, NOMINAL 28 vDC
PICKUP, MAX, 18 VDC AT 25°C
DROPOUT 1 70 7 VDC AT 25°C
CURRENT, HOLD .7 AMP MAX. AT 25°C
PICKUP TIME 50 MS MAX, AT 28 vDC
RELEASE TIME 35 MS MAX, AT 28 vDC
ENVIRONMENTAL DATA
AMBIENT TEMPERATURE ~55'C 10 +71°C
VIBRATION: SINE .036 INCH DA FROM 10 TO 75 HZ.
10 G'S FROM 75 TO 500 HZ.
ACCELERATION 10 G'S
SHOCK 15 G'S MAX, FOR 11 MS
ALTETUDE 50,000 FEET MAX.
LiFE
ELECTRICAL 50,000 CYCLES MIN,
MECHANICAL 100,000 CYCLES MIN,
WE | GHT 7 LBS, MAX.
ﬂmﬂﬁ%ﬂﬂmﬂﬁm HARTMAN ELECTRICAL MANUFACTURING
TOLERAICES 0N MANSFIELD, OHIO
Lot et e sTRrsTaoes] A C. POWER CONTACTOR
— o B (T Vo 0528 175 - 250 AMP
MATERIAL SRRl 0000 TPDT CENTER OFF  go3
RELEASE U SIZE | CODE 1DENT | WG NO.
%H»_’H_.F 0 w&@mw WI%O\_DI‘_
SCALE | [SHEET 2 OF 2




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity:
B461D1



https://www.mouser.com/potter-brumfield
https://www.mouser.com/access/?pn=B461D1

